Page 1 of 4

S	ummary of Proposals Red	ceived			Proiect:	Pavement	Management P	hase 1 - We	st Egan Drive				
	Bid Opening		Contract No. 1603										
Date:	May 1, 2020 at 2:00 pm				Project No.	19-310-110	0						
Place:	Capital Facilities Conference Room			Pruhs Const	trruction Co. LLC	Harris Sand & Gravel Inc. HC Contractors			Prosser Dagg		Engine	er's Estimate	
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
Project Administration													
PA-1	Mobilization and Demobilization	All Req'd	LS	N/A	\$250,000.00	N/A	\$1.00	N/A	\$90,000.00	N/A	\$115,000.00	N/A	\$100,000.00
PA-2	Field Engineering, submittals, shop & record drawings, operating instructions, O&M manuals, and close-out punchlist	All Req'd	LS	N/A	\$1,000.00	N/A	\$25,000.00	N/A	\$15,000.00	N/A	\$25,000.00	N/A	\$25,000.00
West Egan Drive Roadway Improvements													
WE-1	Unusable Excavation	11800	CY	16.00	\$188,800.00	6.00	\$70,800.00	11.00	\$129,800.00	16.00	\$188,800.00	20.00	\$236,000.00
WE-2	Type II-A Fill & Backfill	18200	TON	18.00	\$327,600.00	17.00	\$309,400.00	18.00	\$327,600.00	17.00	\$309,400.00	30.00	\$546,000.00
WE-3	Leveling Course	2700	TON	35.00	\$94,500.00	24.50	\$66,150.00	30.00	\$81,000.00	30.00	\$81,000.00	40.00	\$108,000.00
WE-4	Trench Excavation & Backfill	233	LF	1.00	\$233.00	12.00	\$2,796.00	35.00	\$8,155.00	36.00	\$8,388.00	25.00	\$5,825.00
WE-5	Bedding Material	120	TON	20.00	\$2,400.00	24.00	\$2,880.00	35.00	\$4,200.00	45.00	\$5,400.00	40.00	\$4,800.00
WE-6	Remove Existing Sidewalk	1970	SY	15.00	\$29,550.00	8.00	\$15,760.00	9.00	\$17,730.00	30.00	\$59,100.00	25.00	\$49,250.00
WE-7	Remove Existing Curb & Gutter	7250	LF	15.00	\$108,750.00	8.00	\$58,000.00	2.00	\$14,500.00	9.00	\$65,250.00	10.00	\$72,500.00
WE-8	Remove Existing Pavement	10300	SY	2.00	\$20,600.00	2.00	\$20,600.00	2.00	\$20,600.00	2.00	\$20,600.00	4.00	\$41,200.00
WE-9	Geotextile (Type A)	15000	SY	1.50	\$22,500.00	2.25	\$33,750.00	1.50	\$22,500.00	2.00	\$30,000.00	4.00	\$60,000.00
WE-10	Pavement Planning	6600	SY	2.00	\$13,200.00	3.00	\$19,800.00	3.00	\$19,800.00	2.00	\$13,200.00	4.00	\$26,400.00
WE-11	SWPPP	1	LS	N/A	\$10,000.00	N/A	\$36,000.00	N/A	\$35,000.00	N/A	\$30,000.00	N/A	\$90,000.00
WE-12	Reconstruct Driveway	16	EA	5,000.00	\$80,000.00	3,500.00	\$56,000.00	3,000.00	\$48,000.00	9,000.00	\$144,000.00	2,000.00	\$32,000.00

Page 2 of 4

Summary of Proposals Received Project:						Pavement Management Phase 1 - West Egan Drive								
	Bid Opening	Bid Opening Contract No.												
Date:	May 1, 2020 at 2:00 pm				Project No.	19-310-1100								
Place:	Capital Facilities Conference Room	Pruhs Construction Co. LLC		Harris San	Harris Sand & Gravel Inc. HC Contractors			Pros	sser Dagg	Engineer's Estimate				
WE-13	PCC Curb & Gutter	7230	LF	63.00	\$455,490.00	60.00	\$433,800.00	65.00	\$469,950.00	70.00	\$506,100.00	45.00	\$325,350.00	
WE-14	PCC Ramp	2	EA	7,000.00	\$14,000.00	7,500.00	\$15,000.00	7,500.00	\$15,000.00	2,900.00	\$5,800.00	10,000.00	\$20,000.00	
WE-15	AC Pavement	2430	TON	120.00	\$291,600.00	145.00	\$352,350.00	130.00	\$315,900.00	252.00	\$612,360.00	200.00	\$486,000.00	
WE-16	AC Sidewalk	2400	SY	25.00	\$60,000.00	45.00	\$108,000.00	30.00	\$72,000.00	25.00	\$60,000.00	25.00	\$60,000.00	
WE-17	Asphalt for Tack Coat	1	LS	N/A	\$1.00	N/A	\$500.00	N/A	\$4,500.00	N/A	\$10,000.00	N/A	\$1,500.00	
WE-18	18" CPEP, Type S	233	LF	150.00	\$34,950.00	175.00	\$40,775.00	150.00	\$34,950.00	50.00	\$11,650.00	100.00	\$23,300.00	
WE-19	54" CPEP, Type S	12	LF	250.00	\$3,000.00	1,000.00	\$12,000.00	600.00	\$7,200.00	200.00	\$2,400.00	400.00	\$4,800.00	
WE-20	Construct Type II Manhole	1	EA	N/A	\$10,000.00	N/A	\$10,500.00	N/A	\$12,000.00	N/A	\$16,000.00	N/A	\$10,000.00	
WE-21	Construct Type III Manhole	1	EA	N/A	\$18,000.00	N/A	\$17,600.00	N/A	\$15,000.00	N/A	\$18,000.00	N/A	\$20,000.00	
WE-22	Remove & Replace Frames, Grates & Lids	1	EA	N/A	\$2,000.00	N/A	\$2,500.00	N/A	\$1,500.00	N/A	\$1,000.00	N/A	\$5,000.00	
WE-23	Construct Catch Basin	19	EA	7,000.00	\$133,000.00	6,000.00	\$114,000.00	5,500.00	\$104,500.00	3,400.00	\$64,600.00	5,000.00	\$95,000.00	
WE-24	Connect to Existing Stomr Drain Manhole	2	EA	4,000.00	\$8,000.00	4,000.00	\$8,000.00	500.00	\$1,000.00	2,200.00	\$4,400.00	500.00	\$1,000.00	
WE-25	Abandon Catch Basin Lead	2	EA	3,000.00	\$6,000.00	2,000.00	\$4,000.00	500.00	\$1,000.00	1,300.00	\$2,600.00	500.00	\$1,000.00	
WE-26	Coating Interior Storm Drain Manhole	3	EA	10,000.00	\$30,000.00	15,000.00	\$45,000.00	8,000.00	\$24,000.00	9,000.00	\$27,000.00	4,000.00	\$12,000.00	
WE-27	6" Gate Valve	1	EA	N/A	\$2,000.00	N/A	\$2,500.00	N/A	\$3,500.00	N/A	\$13,500.00	N/A	\$8,000.00	
WE-28	Replace Valve Box	1	EA	N/A	\$700.00	N/A	\$1,500.00	N/A	\$600.00	N/A	\$10,000.00	N/A	\$1,000.00	
WE-29	Anode	1	EA	N/A	\$650.00	N/A	\$250.00	N/A	\$500.00	N/A	\$650.00	N/A	\$4,000.00	
WE-30	Construction Survey Measurement	1	LS	N/A	\$15,000.00	N/A	\$45,000.00	N/A	\$45,000.00	N/A	\$11,000.00	N/A	\$50,000.00	
WE-31	Adjust Manhole Cone	1	EA	N/A	\$4,000.00	N/A	\$2,500.00	N/A	\$2,000.00	N/A	\$500.00	N/A	\$1,500.00	

Page 3 of 4

S	ummary of Proposals Rec	Peiver	1		Project:	Payement		haso 1 - We	est Egan Drive				
Bid Opening Contract No. 1						Pavement Management Phase 1 - West Egan Drive							
Date: May 1, 2020 at 2:00 pm						19-310-1100							
Place:	Capital Facilities Conference Room				-								
T lace.	Capital l'acitties conference Room			Pruhs Cons	Pruhs Constrruction Co. LLC		Harris Sand & Gravel Inc.		HC Contractors		Prosser Dagg		eer's Estimate
WE-32	Adjust Manhole Ring	27	EA	1,000.00	\$27,000.00	1,000.00	\$27,000.00	500.00	\$13,500.00	500.00	\$13,500.00	500.00	\$13,500.00
WE-33	Remove Existing Catch Basin	16	EA	1,000.00	\$16,000.00	1,000.00	\$16,000.00	1,000.00	\$16,000.00	2,500.00	\$40,000.00	2,000.00	\$32,000.00
WE-34	Adjust Mainline Valve Box to Finish Grade	19	EA	350.00	\$6,650.00	600.00	\$11,400.00	400.00	\$7,600.00	500.00	\$9,500.00	500.00	\$9,500.00
WE-35	Adjust Cleanout to Finish Grade	1	EA	N/A	\$400.00	N/A	\$1,000.00	N/A	\$850.00	N/A	\$500.00	N/A	\$500.00
WE-36	Painted Traffic Markings	1	LS	N/A	\$6,000.00	N/A	\$10,000.00	N/A	\$11,000.00	N/A	\$10,000.00	N/A	\$50,000.00
WE-37	Standard Sign	72	SF	150.00	\$10,800.00	210.00	\$15,120.00	250.00	\$18,000.00	100.00	\$7,200.00	120.00	\$8,640.00
WE-38	Existing Signs	19	EA	300.00	\$5,700.00	110.00	\$2,090.00	200.00	\$3,800.00	450.00	\$8,550.00	300.00	\$5,700.00
WE-39	Traffic Maintenance	1	L	N/A	\$40,000.00	N/A	\$176,000.00	N/A	\$225,000.00	N/A	\$170,000.00	N/A	\$150,000.00
WE-40	Traffic Price Adjustment	1	CS	N/A	\$0.00	N/A	\$0.00	N/A	\$0.00	N/A	\$0.00	N/A	\$0.00
WE-41	Remove Pipe	69	LF	15.00	\$1,035.00	35.00	\$2,415.00	50.00	\$3,450.00	50.00	\$3,450.00	20.00	\$1,380.00
WE-42	Abandon Catch Basin	1	EA	N/A	\$3,000.00	N/A	\$1,500.00	N/A	\$2,500.00	N/A	\$1,300.00	N/A	\$2,000.00
WE-43	Top Soil	17.3	MSF	2,500.00	\$43,250.00	2,500.00	\$43,250.00	1,700.00	\$29,410.00	2,500.00	\$43,250.00	500.00	\$8,650.00
WE-44	Seeding	17.3	MSF	600.00	\$10,380.00	450.00	\$7,785.00	600.00	\$10,380.00	630.00	\$10,899.00	500.00	\$8,650.00
WE-45	Fiber Optic System	1	LS	N/A	\$130,000.00	N/A	\$98,500.00	N/A	\$324,500.00	N/A	\$120,000.00	N/A	\$145,000.00
	5 Addendums Acknowledged				\checkmark		\checkmark		\checkmark		\checkmark		
	Bid Bond				\checkmark		✓		\checkmark	\checkmark			
	Alaska Business License				\checkmark		\checkmark		\checkmark		\checkmark		
	Alaska Contractor License				\checkmark		\checkmark		\checkmark		\checkmark		
	Total Base Bid			\$2,5	37,739.00	\$2,344,772.00		\$2,629,975.00		\$2,910,847.00		\$2,9	961,945.00
	Local bidder preference 10%												
	Total Adjusted Bid												

Page 4 of 4

	Summary of Proposals Rec	ceived	Project:	Pavement Management Ph				
	Bid Opening		Contract No.	1603				
Date:	May 1, 2020 at 2:00 pm		Project No.	19-310-1100				
Place:	Capital Facilities Conference Room		Pruhs Constrruction Co. LLC	Harris Sand & Gravel Inc.	HC Contractors	Prosser Dagg	Engine	er's Estimate
	Preliminary Bid Total		\$2,537,739.00	\$2,344,772.00	\$2,629,975.00	\$2,910,847.00		
	The bid totals are subject to correction	after the bids hav	ve been completely reviewed.	-				
	Totals have been reviewed							
	Totals have been corrected							
	I otals have been corrected					Project Manager		